MCJI %hiE R %Y

1ISO 21287 F&! (J&R ) RmEREL mindman
KK
il MCJI-3*
fEET5=0 FEE) A
FELAIAL (mm) 20,25 32,40,50,63,80,100
B TR R M5x0.8 G1/8
fE e Z28R,
{58 FHIRR )yt 0.05~1 MPa
(%] 1.5 MPa
FEME 5 =0 Ml
T N el
ITREEEAE (%) +0~+1.0 mm
JE B —5~+60°C ( A )
58 P Sl 50~500 mm/sec
kS (*2) RCI (#it&552: 8-14 H )

ATRERE NG RRAR L -

STWEIRAR - smiiTmasz 07 5 - FEHEFTRE
MCJI — 32 — 40 — 20%25 ST 55— BT (mm) RAHH
920,25 | 5,10,15,20,25,30,40,50,60,80,100 110
‘ 932,40 | 5,10,15,20,25,30,40,50,60,80,100 120
e s 250,63 | 10,15,20,25,30,40,50,60,80,100,110,120 | 150
Ed
’ 280,100 | 15,20,25,30,40,50,60,80,100,110,120 140
TR x 17122
) 781 BT SRELAIAE #8177 (mm)
fTHe 2 ¥efie 220,25 | 5,10,15,20,25,30,40,50,60,80,100,200
o 232,40 | 5,10,15,20,25,30,40,50,60,80,100,200,300
fEM75L s 250,63 | 10,15,20,25,30,40,50,60,80,100,200,300,400
R ok B

280,100 15,20,25,30,40,50,60,80,100,200,300,400,500
3)1) (5T | mower " JERRMECTRAR LRSS + R AL -

32| [(HlE- | s

AW mindman



MOCJT AR BB - % h

i

ISO 21287 &3 (;48R ) mEEEL

&

mindman

1?

5]
[T =
AL H
TN
|| [
I aTHECHR
FEEAME e ErER: / A
No. LT e e $§§§%1¢ (1‘%??’5;@) MR | e R,
— - 220 | CP-MCJI-3-20 PS-MCJI-3-20
; 2;,?‘2 igf\f 2 L @25 | CP-MCJI-3-25 PS-MCJI-3-25
3 #g% %Eiz > ° 232 | CP-MCJI-3-32 PS-MCJI-3-32
2 ;zﬁ% ‘f'gj:é > ° 240 | CP-MCJI-3-40 | PS-MCJI-3-40
5 T E1' ] 250 | CP-MCJI-3-50 PS-MCJI-3-50
- P-MCJI-3- PS-MCJI-3-
o [EmEEaE NBR > ® r 263 | CP-MCJI-3-63 S-MCJI-3-63
e e 3 ° 280 | CP-MCJI-3-80 PS-MCJI-3-80
— — 100 | CP-MCJI-3-100 | PS-MCJI-3-100
8 |mriE oM 2 ° 2
9 |THEEEIR NBR 2 [ ) o
10 |0 #uEE NBR 2 [ D
11| MEEA AR E IR Tl 2 [ J
12 | KRR NBR 2 [ ) ()
13 | KRfEE NBR 1 [ ) o
14 |0 #uEg NBR 3 o [
15 | ANFHARE IR A 8 @
16 | it s il 2 [ )
17 | ZACERRE faregeit 1 [ )
18 | A ERI R E farayert 1 @
19 | JHZERR *1 1
20 | SNFZREIRE TS 2
21 | WHEF e 1 ()

*1. BEHME 220, 225: 5 ; 232~2100: SfixEH

M mindman




MCJI %hiER - SHBRST 620~0100

ISO 21287 &3 (;4R ) mEEEL

220, 825
ZE+1TRE 1+ {72 2
OE WH ZA+ 1712 2 ZA+ 1711
aTG C Cc
G PL PL PL

ol

mindman

2-RT

232~2100
OE
aTG
. . MCJI-31 KN F
5 A|a1]B [B1| KK
/_\)S []\/—§< 20 | 16| 14 | 13 | 4 |M8x1.25
€> € 25 |16 |14 |13 | 4 |M8x1.25
@ @ 32 |19 |17 [ 17 | 5 |M10%1.25
40 |19 [ 17 [17 | 5 [m10x1.25
50 | 22|20 |19 | 6 |M12x1.25
63 | 22|20 |19 | 6 |M12x1.25
80 | 28|26 |24 | 8 |M16x1.5
\'@} Z S {@J 100 |28 |26 |24 | 8 [M16x15
B |AF|c|D| E| EE |G |WH| I |[J| KF |PL|TG| RT |zA|ZE
20 | 14 |11 10 | 35.5 | M5x%0.8 8| 6| 9|21 |M6x1.0 7 |22 |M5%0.8 37 | 80
25 |14 |11 |10 [305|msx08 | 8| 6| o[21[mex1.0 |7 |26 |msx08 |39 | s4
32 | 15 (14 | 12 [47.0|G1/8 10 70 9(21|M8x1.25 (7.5 |32.5|M6%1.0 44 | 95
40 |15 [14 |12 [545|G18_ |10 | 7| o |21 Mex1.25 |7.5 38 |M6x10 | 45| o7
50 | 18 [14 | 16 [65.5|G1/8 14| 8| 12|26 |M10x1.5 |7.5|46.5|M8x1.25 | 45 | 98
63 | 18 [14.5| 16 | 75.5|G1/8 14| 8|12 2.6 |M10x1.5 [7.5 |56.5|M8x1.25 | 49 | 106
80 | 20 [15.5 20 [95.5|G1/8 17 110 | 12 | 2.6 |M12x1.75(8 |72 |M10x1.5 | 54 | 118
100 | 20 [185] 20 [113.5[G1/8__| 17 | 10 | 12 | 26 [M12x1.75]9.5 |89 | M10x15 | 67 |144

ATRE R BATRE TR 20 M T

M mindman



	1_規格
	2_內部構造及主要零件
	3_外觀尺寸φ20~φ100

